MAT 200 - Test 1 - Fall 2015

Instructor: Dr. Francesco Strazzullo Name

Instructions. Technology is allowed on this exam, without internet connectivity. Each problem is worth [0
points. When using technology describe which commands (or keys typed) you used. You might need some of the
following formulas/facts, if you do use one cite it:
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SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1. Boiling points in degrees Celsius for various substances are an example of which type of data? (Mark all that
apply)

A) Parameter

B} Quaiitative

?\ Quantitative

D) Inferential

E) Neither Discrete or Contimuous

F) Discrete

}ﬁ\‘ Continuous

2. The following bar graph shows the per capita personal incomes for six states in 2003.
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Use this bar graph to determine the following statistics (round-off your answers to the nearest hundredth).

(a) The lowest per capita personal income for the six states shown. UTAU: ﬂazbl ) ?}‘2?-

(b) The highest per capita personal income for the six states shown. DI CoLuMBIA ; & L& ) 3 2
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(¢) The median per capita personal income for the six states shown, E&/To% DATA i & é’J THy
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3. The Pizza Pie 'N Go sells about 1790 one-topping pizzas each month. The pie chart displays the most
requested one-topping pizzas, by percentage, for one month.

15% Anchovy 24% Ham

lushroom

Use this pie chart to determine the number of Mushroom pizzas sold during this month (round-off your answers
to the nearest integer).
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4, Calculate the (a) range, (5) population variance, and (¢) population standard deviation for the following data
set. Use the rounding rules for calculating the variance and standard deviation.
9,8,7,7,9,6,5,9,5,37
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5. Consider the following frequency table representing the distribution of heights in centimeters for a sample of 8-
year-old boys.

mipTewTE Heights in Centimeters
XL | % Class Xg |Frequency
x| NE4, [1156 — 1194 14
¥e | R4 (1195 — 1233 18
X3| 1253 11234 — 1272 18
X! TR Z 11273 — 131.1] 42
I 1330 T131.2 < 135.0] 16

Using the rounding rules, complete the following tasks.

(a) Determine the lower class boundary for the fourth class (cite the formula from page 1).

(b) Determine the midpoint for the third class (cite the formula from page 1).

(¢) Calculate the standard deviation and variance (cite the formula from page 1, but use your calculator).
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6. Calculate the five-number summary of the data: 20, 19, 10, 20, 21, 9, 14, 24, 20, 6, 5, 22, 2, 22.
Evver D44 v Ly . ISTA,@\'_ — (ALl —> L




7. Suppose that prices of recently sold homes in one neighborhood have a mean of $215,000 with a standard
deviation of $7700. Using Chebyshev's Theorem, what is the minimum percentage of recently sold homes with
prices between $199,600 and $230,4007 Round your answer to 1 decimal place. )
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8, Given the following data, find the diameter that represents the 534 percentile (cite the formula from page 1,
but use your calewlator).

Diameters of Golf Balls
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9, Two cards are drawn without replacement from a standard deck of 52 playing cards. What is the probability of
choosing a heart and then, without replacement, a spade? Write your answer as a fraction in lowest terms or a

decimal number rounded to four decimal places.
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